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Student life is the stage of preparation for future. This is the most important period of life. A student is young today,
but he will be a man tomorrow. He has different duties. *
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One day a dog stole a piece of meat from abutcher shop. He was crossing over a bridge. Suddenly, he saw his own

shadow in the water. He thought that there was another dog and he had a bigger piece of meat.
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The teachers are regarded as the backbone of the

héy build the g citizens of country. They love
students as their children. The teachers always encouragé'and inspire us to b_ and great in life.
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One day a fox was going beside the vine yard. He sa
reach it. Because they were beyond his reach.
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We live in India and 8} . But we should not forget that we belong to the larger
family of the,world. ople living in other countries are after all our cousins. It would
be such'an excellent thing the people in the world were happy and contend.
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